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= Year 9/10    = LINEAR FUNCTIONS      = Worksheet 4
	1. Find the equation of the line shown in the graph below.
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	2. Find the equation of the line shown in the graph below.
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	3. Find the gradient and the equation of the line shown in the graph below.
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                                                 (
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	4. Find the gradient and the equation of the line shown in the graph below.
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	5. Write down the equations of the two lines.
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	6. Find the equation of the solid line that is perpendicular to the dotted line.                                   y

                                                 2
                                    −2        0                               x


	7. Write down the coordinates of the intersection of the two lines shown in question 5.

	8. Write down the coordinates of the intersection of the two lines shown in question 6.




	9. Find the coordinates of the intersection of the two lines represented by the equations 
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	10. Find the coordinates of the intersection of the two lines represented by the equations 
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	11. Find the coordinates of the intersection of the two lines represented by the equations 
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	Numerical, algebraic and worded answers.


1.  x/3 + y/2=1


     or 2x + 3y = 6


2.  y = 5x/2


3.  gradient = 1.25


     y = 1.25x − 5


4.  gradient = − 6/11


     6x + 11y + 29 = 0


5.  Vertical line: x = 5


     Horizontal line: y = −3


6.  y = −x + 2


7.  (5, −3)


8.  (0, 2)


9.  (−5/2, −2)


10.  (2, −7)


11.  The two lines do not 


       intersect because


       they are parallel.
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